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HHT 3T

(Feie] TTsii=T, Sirer usre)
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1. TOgT UR™T 1 & U o9, 37T 3H U0 Yieeht it Ugdriel 31ava oY o e gad s famm
BUT, Tel AT TeT E3TM TS ST U9 3NE 7 &Nl Afd TET & ar 3H WEr Uieion giaent § a&at
it

2. ITR-UFh § WE WM W UieiuT YRRt ST A, B, C A1 D genfiafd e ®§9 ¥ fedg s

3. 79 Ufd % 1 ¥ &3 T RIS § YR SO SHAI foae €1 wiern g W 3R % 7 fod

4. 3@ wer gfcsht ® 100 g9 (e) f&F T ) g weAre et ofit ot ¥ sW B yed geAw
H 9N g (IW) @ M R T W T T
F A o, S A9 IW-=F W AfeRa wE =med
F1 9 aueR! TE o foF U 9 stfue g wE
g @ 3H IR HI Afhd HX S AR FAE T TAF WA % e had Tk & IR T E

5. SMUh! IO W YRR oten ¥ R U Sw-we W OE sifhd & € Sw-w § Rk fadw
3@ ol

6. |f yeAl % 3w wEH B

7. 399 Ted foh o9 we gieer & fafa= gl & T SW-TFe W SAfhd R YR Y, e
WAl THO-TS % WY U SRSl % SUR h® faeRer Sw-we | < 2

8. 39 3T il YU &l ST-TAH § WA & dK 91 T & FHOH W Had Sa-TA TEEh hl
i | STkl SO W1 THe0 YRRl of STH T AR 2

9. = ®M & ¥ & TF e YRewt & Fd § o

10. Tetd 3T & Tod g
TS Yy W SEiEaR g fed U ew s & fo g3 famr wmom

(i) 9% Yo & ford wR Sfersd SW 21 SHASAR g yE WA & fod i@ T U e S % fod
i 7q fod fo6a U siet o1 ueh-Taets < & &9 H wrer smom

(i) % *iE IH<aR T @ sifeeh I @l €, @ W Terd IO 9 S, = 5 T sw 9@ uh S
e 7, 39 Y9 & o SwdFaERr & < fear s

(iii) % SR g *IE Y 8 &l foman Sar € ereifq SEitar g SwR e o < €, A S| ue &
o g g =t fean smom

T Tk T TE UIILUT YRAHT T il T gl ST ad a7 @it




1. @R 9Rd W a9 &0 & | 9 gatud

freafafaa wo w® foar wifs:

1. Aq=BT-371A (AETUMIA YIV) TH
IT=R-371G (WeMer) & 3favia ure fawmm
G gEuml & g R off yeR @t
SN gensti, i w@ihe wEA O
foumEs =1 790 & @F] Tl R S geRd |

2. Tgfad SHefd iR o7 URufiek o Framd
sfufem, 2006 & ITER enfeard uREri
F 3@ I H Had R w1 AfUER
2 feme =1 e

ST He W W HHA-GA TE B2
(a) wed 1 (b) e 2
(c) 1 @2 T (d) Td 1 T2

. Frafafed el w fa=ar wif:

1. o &1 AER Afuf=m & 12 TR,
2005 =1 qU 9 | FYUI &S ® W AR
Y e =

2. o w1 AfYSR AffE & fafa Terifas
Tl ! 7R @ S 2l

3. 99 2019 # gE w1 AUSR eifuftEm |
TINe T F 1T oA G IR T G
AR 1 o i Tt Yaeh] & THehel H
fean T

ST § @ fohad weH Tl ©?
(a) HaA Th (b) FaaA I
(c) |t o= (d) =g o T

. IR wfaum w1 g #1950 § fufa 9

Heiferq fefefaa § 9 wF-91 T @@l T 82

(a) @ GauE | 9q0 9YE 99, FESER],
NIETEIERIM NI C B R

(b) Tl anfefr AR THifas =9 1 @
fafga em

(c) a1 3R e 1 GHAl 1 Ieoi@ fed
ol

(d) Toem, sifeafe, fovama, « iR SareT i
A HT Ieerd Tl

. TJH el § OBC SIR&w § Hafya fefafad

Fol W foeR Fifsa:

. B & § oA T R A el iR
vl T ® o fawer vt & fod smerm
1 AR 10% | SR 27% T fEan 2

2. 9g1 g3 STETE SR udn sifufrE 1996
% fald A are & | off @y g

1. Consider the following statements regarding the

law of forest conservation on North-East India:

1. By special constitutional provisions under
Atrticle 371A (Arunachal Pradesh) and Article
371G (Meghalaya), any kind of tribal customs,
land ownership laws cannot be implemented
without the approval of the State Assembly.

2. According to the Scheduled Tribes and Other
Traditional Forest Dwellers Act, 2006, tribal
families now have only hunting rights in the
forests and not residential rights.

Which of the statement(s) given above is/are
correct?

(a) 1only

(c) Both 1and?2

(b) 2 only
(d) Neither 1 nor 2

. Consider the following statements:

1. The Right to Information Act was fully
implemented with complete sections on
October 12, 2005.

2. Political parties are not covered under the
Right to Information Act.

3. In the year 2019, the Right to Information
Act was amended to make the ranks of
Central Information Commissioner and State
Information Commissioner equivalent to civil
servants.

How many of the above statements are correct?
(a) Only one (b) Only two
(c) All three (d) None

. Which one of the following is not correct regarding

the status of the Preamble of the Indian Constitution

in 19507

(a) The original Constitution contained the words
fully sovereign, socialist, democratic republic.

(b) The goal of social, economic and political
justice was implicit.

(c) Mention of equality of status and opportunity
was implicit.

(d) There was mention of freedom of thought,
expression, belief, religion and worship.

. Consider the following statements regarding OBC

reservation in local bodies:

1. Recently, the Gujarat State Government has
increased the reservation for Other Backward
Classes in Panchayats and urban bodies from
the existing 10% to 27%.

2. The increased OBC reservation will also be
applicable in areas covered under PESA Act
1996.
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IwfE w9 9 SE-FUA TE 22

(a) ®ad 1 (b) HaA 2

(c) 1 @R 2 g (d) T 1 A2

. Hfgen AR faeer, 2023 & ded o, FHefafaa

HYM R fa=r wifsa:

1. @e fadaess g, o9 faumast @ik
feoett faur@a o ww-faer el & ofeen
el o fordl SRR vt 1 Jree il 2l

2. I8 SARE0 AhEdl IR T fauraae o
srgfaa fa oik gl sHefa & ford
P Hiel W oft @m B

3. 9% Afeen 3IR&U 25 a¥ &l o7ty & fod
e e Som 99§98 | 99T 7T A
% e g gerE S el 2

STdE weAl W W wE-9 T 7?2

(a) o 1 3R 2 (b) e 2 3R 3

(c) o 1 3R 3 (d 1,2 33

. JYUEHA SH-vF A & 9]l H, frefafea

FeAl W =R Fifee:

1. 7€ foxita THEyE &1 T TS e 2

2. THH 2T W Hod W o Sael wd
Yalel qeh UgT GAread I a HH AN
Td oAU g & ford WEifient 1 suEm
HT 2

3. 326 ®US PMJDY WaHRak i fafa=
IS % qed R T Yol ol SElarol
o g3

IfE FUAl W 9 SE-F/A T T 20

(a) ®ad 1 (b) ®ad 2 3R 3

(c) ®ad 3 @ 1,2 3R 3

. w1 M & W]l o, frefafed s W

faar wifs:

1. 7% f 99 o] B § 99 WHR 50 TH
Y= ogaa W 3 geiell & o= fafma T
T H S ¢ S AR fafa w9 fae
g 21

2. € T dficint & 1ol Hhe & SE a9
TE@q qE o TN W W F Hed Ak
SN At ®UC R ARG SfeR & o=

Which of the statement(s) given above is/are
correct?

(a) 1only

(c) Both1and2

(b) 2 only
(d) Neither 1 nor 2

. With reference to the Women's Reservation Bill,

2023, consider the following statements:

1. This bill provides for reservation of one-third
seats in the Lok Sabha, state assemblies and
Delhi Assembly for women members.

2. This reservation will also apply to seats
reserved for Scheduled Castes and Scheduled
Tribes in the Lok Sabha and State Legislative
Assemblies.

3. This women's reservation will be provided
for a period of 25 years which can also
be extended through a law made in the
Parliament.

Which of the statements given above are correct?
(a) 1and2 only (b) 2 and 3 only
(c) 1and3 only (d) 1,2and 3

. With reference to Pradhan Mantri Jan-Dhan

Yojana, consider the following statements:

1. Ttis a national mission of financial inclusion.

2. Its objective is to ensure access to financial
products and services at affordable prices and
to use technology for lower costs and wider
access.

3. 3.26 crore PMJDY account holders received
direct benefit transfers from the government
under various schemes.

Which of the statement(s) given above is/are not
correct?

(b) 2 and 3 only

(d) 1,2and 3

(a) 1only
(¢) 3only

. With reference to Gresham's law, consider the

following statements:

1. This rule applies when the exchange rate
between two currencies is fixed by the
government at a fixed ratio which is different
from the market exchange rate.

2. This rule became a significant issue during
Sri Lanka's economic crisis when a fixed
exchange rate between the Sri Lankan rupee
and the US dollar was set by the country's
Central Bank.

e feer fafra =T faaifa =1 ) Which of th o) e bove is/
- . ich ot the statement(s) given above 1s/are
ST HeA W W HHA-FA TE B2 correct?
(a) o 1 (b) et 2 (a) 1only (b) 2 only
(¢) 1 @R 2 g (d) a1 3R A& 2 (c) Both 1and?2 (d) Neither 1 nor 2
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8. feer fafmg @ & ey o, fr=fafed oAl ™

foar wifsE:

1. I el &R T FE9 % g A Th
e © S I w1 Snferehien qu fatta
T I TEL I HT Z A GH HI HAd H
Shedt 21

2. fer fafm @ gmel w e e,
SR FHJer 3R SR 1 dehdl & fod
Tors B GHENSG T B AN @ 2

3. feer fafma X qomel 1 3T%9 951 & qA
1 TH HRU TR F @A

STE wUA § W wE-9 T B?

(a) wad 1 3R 2

(b) e 2 3N 3

(c) ot 1 3R 3

(d 1,2 33

9. YRd H WU & HOH 9 Hefud feAfatad

HYT R fa=r Hifsa:

1. oTafys o9 9 "aeu (PLFS) & S1{9R,
H 2021-2022 H 9RA T IR R RET
4.1% B TE

2. PLFS & 3I9R, 9Rd & SIR THfRT
Y %1 B

IwfE w9 9 SE-FUA HE 282

(a) ®ad 1

(b) ®ad 2

(c) 1 @R 2 T

(d a1 A2

10. fr=fafed g W faur SifsE:

(ST & TR ) (@ H)
1. =4 R - fHd TR |
YRl § e

8. With reference to fixed exchange rate, consider the
following statements:

1. It is an arrangement implemented by a
government or central bank that links a
country's official currency exchange rate to
another country's currency or gold price.

2. Fixed exchange rates allow currencies to
adjust freely to economic conditions, trade
imbalances, and market forces.

3. The purpose of a fixed exchange rate system
is to keep the value of a currency within a
narrow range.

Which of the statements given above are correct?
(a) 1and2 only
(b) 2and3 only
(c¢) 1 and3 only
(d) 1,2and3

9. Consider the following statements regarding
measurement of unemployment in India:

1. According to the Periodic Labor Force Survey
(PLFS), India's unemployment rate fell to
4.1% in the year 2021-2022.

2. According to PLFS, India's unemployment is
lower than the US.

Which of the statement(s) given above is/are

correct?
(a) 1only (b) 2 only
(c) Both 1 and 2 (d) Neither 1 nor 2
10. Consider the following pairs:
(Types of Unemployment) (About)
1. Disguised — Involvement of more
Unemployment people than required

in an employment.

. Seasona — Occurs during certain
2. S 1 o during i
T T wfae g Unemployment seasons of the year
2. TR ST - % B e 3. Cyclical — This is unemployment
T % E.[l 1 B @ Unemployment arising from the
3. = T - Al ‘l[ # 37 ' mismatch between the
B & jobs available in the
& WA market and the skills
| gﬁ of the workers.
) l How many of the above pairs are correctly
S o 9 T g Wt gufer €2 matched?
(a) Had TH (b) Had A (a) Only one (b) Only two
(c) |t = (d) =g ot T (c) All three (d) None
- 641, UOM A, | 21, YWT TS, | 13/15, A9Tehe AT, ke | wife Fow-45 9 45-A ¥9 | 47/CC, Sfefres
i 2w @S T, A AT, wfirent =irreT, fafae -2, U9 ek Us, | 3Mehs A, faamrasw
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11. AET 291 oEA Savd & 11. Nine dash line is related to-
(a) Tfaoft =7 AR # AT W = g sifRd (a) lilrom nine; V}ilrtual lilrlleshr.narked by China on
e T () From h dopted brder T btween
b) sk 2 g o rom the disputed border line between Syria
and Israel
q s + % = (c) From area located between Palestine and
(c) Trfoe ERAER feord T Israel
(d) T[%'L"l AR w9 % e foerfeq dw &9 (d) From disputed border area between Ukraine
12. e &1 @re) Frafatad § § el feorg 272 and Russia
(a) el <\ TR F (b) qe AR o 12. lWhetrez1 :mong the following is the Gulf of Tonkin
. . ocated?
(c) W wR A (d) Tl W H (a) The South China Sea
13. 9RG = d-foag @ gafya fafataa wemt (b) The Mediterranean Sea
R faar =it (c) The North Sea
1. < gEfE s wee SR Aeie (d) The Black Sea
91 % T & ®9 ¥ @ 7 13. Consider the following statements related to India-
2. @ fieed A @ He F WeAw 9 Clhinéltl’?rder diSpute}; Arunachal Pradest and
7 g9t = 1 F 3 . inese maps show Arunachal Pradesh an
= ) N Nagaland as part of China.
3. AR LAC =T 2500 i st 2. Through Tawang Galden Namgyal Lhatse
9 38 1800 foedt e = 21 Monastery, China claims Tawang as part of
ST § @ fhad weH Tl ©? Tibet.
(a) FaA TH (b) Fad a1 3. Iél;iia consi@zrs L[?? t(; bel 223(5)(())Ok11<nm110ng while
() Tt dH (d) FE W @ ina considers it to be ong.
How many of the above statements are correct?
14. RA-HA ‘f’f:ﬂ:’j—q anfefer e (IMEC) ¥ (a) Only one (b) Only two
Heffyd frefafed wedl ® foem wifa: (c) All three (d) None
1. ysdfad IMEC ® {&Mrl, 9e& Ud 9ugt 14. Consider the following statements regarding India-
gfiges |t It 8 Middle East-Europe Economic Corridor (IMEC):
2. =9 FMER § uF el F9d, TF gESRH 1. Thg proposed IMEC will include rail, road
t t tes.
SR wE w2 @ i an. sea r'anspo.r rou e.s
S 2. This corridor will also include a power cable,
! a hydrogen pipeline and a high-speed data
ST HoA § 9 wH-GUA TE /22 cable.
(a) w1 Which of the statement(s) given above is/are
(b) Ha 2 correct?
. 1 onl b) 2 onl
© 1 A2 Ea; Botr}11}I d2 Ed; NO’I:hy 1 2
c) Both 1 an either 1 nor
d) 7 El
@ L oRAH 2 15. Consider the following pairs:
) gp
15. WF@H E\['n:ﬁ KL -%'HT{ ﬁﬁféf: (P]aces in News) (Country)
(TR | wrfeld @) (2w) 1. Port of Haifa - Kuwait
1. BEWI d5UE - aﬁ?{ 2. Port of Fujairah - United Arab
2. NI SR - TgH RS TN Emirates
3. AfgT seume - g 3. Port of Messina - Greece
4. "2 — @ 4. Port of Mundra - India
. . How many of the above pairs are not correctl
sl ¥ ¥ R g wE gt e 82 e P Y
(a) Faa@ TH (b) e (a) Only one (b) Only two
(c) whered i (d) =+t =R (¢c) Only three (d) All four
641, UUH T, | 21, GET AT, | 13/15, A9he UH, Fiehe | wife FoR-45 9 45-A &Y 47/CC, Ffete
e 2w
» qEsi TR, HUA &, ufreht <inreT, fafae 2TaR-2, A Sk Ag, | oehs Atw, Taamran
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16.

17.

18.

19.

IRA SR gel  ufern frer wwed & ged H,

frafafeg womi wm foar s

. 9Rd 2010 ¥ EAS &1 S0 T5& @ 2
AR zEeR! Gt Sl SR widtetiE § wiwma
®q 9 9 e B

2. FER 2019 H Hwiw o wf wfrEn fer
gEeE §, 9Rd A feI-wend HeMrR ued
1 3HERY TR e

ST oAl ¥ 9 HA-T/A T 22

(a) ®aa 1 (b) wad 2

(c) 1 @2 T (d) Td 1 ST 2

frefafeg womi m foar s

AT : ol fag ofaier o o foeim oM & wel

g 3R geolt S q oS ufehW w o et

T e Y0 IR Teh-SER i Hferd Lt &1

HIF-11 : RS fog Foet geaft iR gd & =

oo B SRl W wnfyd S e e fog @

T @A 2

SudE weAl & AR |, Frefetad § 9 sE-w

T T 22

(a) HA-1 3R -1 TH1 T&l & qe HeA-11,

FHUA-1 F1 & AT 2

FHUA-1 3R FHUA-11 < Tl & qe HeA-11,

FHUA-1 ®1 T e T e

(c) H¥A-1 W&l € foheg weM-11 TTora B

(d) HEF-1 o © foheg he-11 Wet ®

FoSe "ol & ged °, frefafeaa wul W fa=ur

HIfe:

1. 3 Famd U8 TR, TEhiH a1 Wi
& o fgdia wer wem@et g0 @ fwan
S B

2. FASE Yol He TS Folle d STAehdl 8
% YATE Wi ST & WEAY W, Yel-Uel &
foren 3R aTaE T 1 geen JaH w8

3. 99 2027 T WRA H FASE HAT AR
28.1% @4 ! INAT B

ST el § W HA-9 T 22

(a) waa 1 3R 2 (b) ®ae 2 3N 3

(c) a1 3R 3 (@ 1,2 3R 3

R o et w1 feaf & wedf §, fretfoted

H | fa=r wifsa:

1. fava geifesd fi, 2022 & SR, HREM!
o aiftfer SUR W STEnfir Yaie T %
e § 9Rd fave § 3 T W 2

(b)

16.

17.

18.

19.

With reference to India and East Asia Summit,
consider the following statements:

1. Indiahas been a founding member of the EAS
since 2010 and has actively participated in all
its meetings and activities.

2. At the East Asia Summit in Bangkok in
November 2019, India unveiled the Indo-
Pacific Ocean Initiative.

Which of the statement(s) given above is/are
correct?

(a) 1only (b) 2 only

(c) Both 1and2 (d) Neither 1 nor 2
Consider the following statements:

Statement-I: Lagrange points are special places
in space where the gravitational forces of two large
revolving bodies like the Sun and the Earth balance
each other.

Statement-II: Lagrange point is located only
between the Earth and the Sun where the satellites
installed remain at their fixed point.

Regarding the above statements, which one of the
following is correct?

(a) Both Statement-I and Statement-II are correct
and Statement-I1 is the correct explanation of
Statement-1I.

Both Statement-I and Statement-II are correct
and Statement-1I is not the correct explanation
of Statement-I.

(b)

Statement-I is correct but Statement-II is
incorrect

(©

Statement-I is incorrect but Statement-II is
correct

(d)

With reference to cloud service, consider the
following statements:

1. These services are infrastructure, platforms
or software that are hosted by second party
providers.

2. Cloud services facilitate the flow of user data
from front end clients, via the Internet, to the
service-provider's systems and back.

3. India's cloud computing market is expected
to grow by 28.1% by the year 2027.

Which of the statements given above are correct?
(a) 1and2 only (b) 2 and 3 only

(c) 1and3 only (d) 1,2and3

With reference to the status of robotics in India,
consider the following statements:

1. According to the World Robotics Report,
2022, India ranks 3rd in the world in terms
of industrial robot installation in factories on
an annual basis.

S 641, UUH T, | 21, GET AT, | 13/15, A9he UH, Fiehe | wife FoR-45 9 45-A &Y 47/CC, Ffete
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20.

21.

22.

23.

2. 9Rd W ufereria siifes Jde @ik ad
2016 R 2021 & == < H eAfuew @l
T

STgF weAl ¥ W wH-G/A T R?

(a) ®aa 1 (b) Had 2

(c) 1 3R 2 <Mt (d Fd 1 &ARAE2

TR ITeto Sieq Gefud 8-

(a) STHRERT AFET g SR ST @1 5 At diel

HT TR HR

TSEA 5N BHM & faerd gan fohan

RRERSICIREI}

(c) T R WIS T Jeedfd ol Had TH ITUE

(d) T ¥ T S BR YAW #T T S A
et  ggd el g w2

W & 1 & §ey #, F=fafad wo ® fa=ar

EAIEpE

. = 79 ¥R gR T I I ®U Y TH
IS THHIG TWEHT h T SH HI UIE
F 2l

2. el g -7 2008 H <@ T |

(b)

IwfE w9 9 SE-FUA HE 282
(a) 9 1 (b) et 2
(c) 1 3R 2 <+ () Fa 1 RTE2

AT | fawfad Ama oo wied & @i ¥,

freafafad ol ) faar sl

1. S & wesRdiet 3 14 fST & @EE
T Hige I % fod Bu g S @
% GASH 1 ST TR

2. Tied, Sl Ugel fesh TWHS (DNA)
TeTd IR o famo § Ffea | Se R
FE H TS F T

3. I Aied Hhad URMS YUT fahmd &1 s1eed
FE & fod B

ST el ¥ W HA-9 T 2?2

(a) wad 1 3R 2 (b) ee 2 3R 3

(c) ad 1 3R 3 @ 1,2 3R 3

Afvers Sa o TSEYE % Hed o, frefafd

HoAl W fo=m wifsE:

1. I8 G20 &% 3198 & ®9 § 9Rd &I TH
wEd 2l

2. ST Sl TSE! & STIER, 6 Y A&
& YROMEEY oY 2050 qh S o &l

20.

21.

22.

23.

2. The industrial robot stock operating in
India was more than doubled between 2016
and 2021.

Which of the statement(s) given above is/are

correct?

(a) 1only (b) 2 only

(c) Both1and2 (d) Neither 1 nor 2

Picoflare jets are related to-

(a) 5th generation aircraft being built by the US
Air Force

(b) Unmanned aerial vehicle used by Israel

against Hamas

(c) Jupiter's hottest satellite discovered by NASA

(d) Small-scale events in the Sun that release large

amounts of energy over short periods of time

With reference to Super Blue Moon, consider the

following statements:

1. Both the Blue Moon and the Super Moon
combined to illuminate the sky with a large
bright moon.

2. The last super blue-moon was seen in 2008.
Which of the statement(s) given above is/are
correct?

(a) 1only (b) 2 only

(c) Both 1 and?2 (d) Neither 1 nor 2
With reference to the human embryo model
developed in the laboratory, consider the following
statements.

1. Researchers in Germany used a combination
of stem cells and chemicals to create a model
of a 14-day-old human embryo.

2. The model helps highlight errors in
deoxyribonucleic acid (DNA) duplication
and chromosome distribution.

3. These models are only for studying early
embryonic development.

Which of the statements given above are correct?
(a) 1and2only (b) 2 and 3 only

(¢) 1and3 only (d) 1,2and 3

In the context of Global Biofuel Alliance, consider
the following statements:

1. This is an initiative of India as Chair of G20.

2. According to the International Energy
Agency, a net zero target would result in
a three-and-a-half to five-fold increase in

9@ 9 9 o= T gfg w1 S biofuel capacity by 2050.
e o 641, UOM A, | 21, YWT TS, | 13/15, A9Tehe AT, ke | wife Fow-45 9 45-A ¥9 | 47/CC, Sfefres
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25.

26.

IwfE w9 9 SE-FUA TE 22

(a) e 1 (b) Heret 2

(c) 1 3R 2 i (d) Adr 1 3RTE2

Se UM % AR § fEtetad § ¥ SE-E T

T T 22

(a) o€ HE! R @ S EEE ¥ W e €

(b) A T U WA T ®Y F UW W 2

(c) 39Tl =S AR TEIa Fehfa 1 SrEEE 2

(d) 9Rd S $o H1 FaH &1 IAEH 29 2

ey URa fazemds & w3y |, freafafaa wemt

T foar Sifsa:

1. ¥ T o« &N (UNICEF) & 31{9R,
¥ 2022 | T 4.33 HAS Tl I TAH
forgenfia e wer 21

2. 39 2022 ® Serarg 9Radd & &R faeenfua
AR T &A1 Tgelt 9R 100 HifeeH 9 it
a1 T R

SUge el § W wA-G/d e 2R?
(a) ®ad 1 (b) HaA 2
(c) 1 @R 2 T (d Fa 1 RTE2

A Wik  Fargd fEAfafad oAl W

fomm wifs:

1. 9 I & T Ty Hearhianst i
TgH F o Wiefed w0 2 fesea fan
™ 2

2. I8 = 2010 § 9RE 999 & ded enfud
T et THten 9 2l

3. TH gt Sevd WHeRd T S i
FH HET SR TR ol Gl B AR
HFHFAU § STeM-TT <M g o <1 ®
Tl T AR FHEAT

24,

25.

26.

Which of the statement(s) given above is/are

correct?

(a) 1only (b) 2 only

(c) Both 1and2 (d) Neither 1 nor 2

Which one of the following is not correct about

biofuels?

(a) These are obtained from biomass like wood
and straw.

(b) These are found in the form of gaseous and

liquid fuels.

Ethanol is the clean and affordable nature of

biomass.

(©

(d)
In the context of climate induced displacement,
consider the following statements:

1. According to the United Nations Children's
Fund (UNICEF), about 4.33 crore children are
expected to be forcibly displaced in the year
2022.

2. In the year 2022, the number of people
displaced due to climate change will exceed
100 million for the first time.

Which of the statement(s) given above is/are
correct?

(a) 1only (b) 2 only

(c) Both 1 and?2 (d) Neither 1 nor 2
Consider the following statements regarding
Global Stocktake:

1. It is designed to encourage countries to
increase their climate ambitions.

India is the largest producer of biofuels.

2. Itisaperiodic review mechanism established
under the Paris Agreement in 2010.

3. Its primary objective is to assess the efforts
being made by individual countries in
reducing greenhouse gas emissions and
transitioning to renewable energy sources.

. . H f th tat t ?
g ¥ ow many of the above statements are correct
(a) Only one (b) Only two
(a) Fo1 TH (b) FT I (¢) All three (d) None
() w+ft i (d) =+ T 27. Consider the following pairs:
27. fAfafed g | foer sifsa: (Ocean zone depending (Depth)
( TSRTIT T |IAT & MR (113-{1?) on the amount of light)
T HETERRE S ) 1. Epipelagic Zone — till 100 meters
1. gueTS it - 100 WX T 2. Mesogelagic zone — 100 to 600 meters
2. HegeETeh ~ 100 T 600 TR qF 3. Aphotic Zone — more than 600
3. STHTEH - 600 X § wfir meters
How many of the above pairs are correctly
Sdw H ¥ fhad g @ gafad 22 matched?
(a) HIA TH (b) weA I (a) Only one (b) Only two
(c) |t 94 (d) =g off T (c) All three (d) None
e o 641, UOM A, | 21, YWT TS, | 13/15, A9Tehe AT, ke | wife Fow-45 9 45-A ¥9 | 47/CC, Sfefres
» qEsi TR, HUA &, ufreht <inreT, fafae 2TaR-2, A Sk Ag, | oehs Atw, Taamran
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29.

30.

31.

eI YgU0T & HeH H, Frfated swe W faer

HIfST:

I T o HEm TR @ v gaeee §,
o e W gu@ R

2. 9% & 1.9 HifaeA o fdt o 1 Hew &t
TEXE deh Sifeeh €9 ¥ Hewqul aen ¥ Him
WehTST HEHOT Bl R

3. W9 9 A & H Td H RN 10 HieX
Y atfush 1 TeUE qeh g Fehdl @l

TR T G e T 82

(a) Had Th (b) et T

(c) Ot = (d) w1 o T

S frepral o Steiifodstem @ gefua ffafea

FAl R =R Fifee:

1. 399 e Sefta ardrerRe | e stredts
% & H gfg 9 2

2. SeAifraeHyE MH esE W SesH e
Sediell HIgell % Ieas H HRE 2

ST FoA H 9 HHA-TUA TE B2

(a) Had 1 (b) HaA 2

(c) 1 3R 2 g (d) a1 A2

aRa § 91 w1 feafq 9 defuq fmafatea s

T foar Fifsa:

1. e 3 Fomeae e wfivmen Rue, 2021 #
STER 99 2021 § 9RA H A€ H HRU
716 faferad Sfer w1 JeEE g3l

2. T SR Yae Jehiol & ST{aR Ueh
T 91 % SR S 1600 WM BT S
weft St 2

3. FAEHS SeH g Hehfold Sl & STHUR,
e 2023 ¥ fowel 99 oo # wag wH
Tl ISt w T

ST wodl ¥ 9 HA-A/A T T 282

(a) e 1 (b) wae 2 3R 3

(c) e 3 @ 1,2 3R 3

FewH ST % aR o Frefafed o 9 wE-w

T T 72

(a) TE T STW T H qH B & Bl @

(b) & T H IHE W BN U U &% el @

(c) I8 TEGE M a1t A % e W S §

(d) ST ® ¥ FE T

28.

29.

30.

31.

With reference to light pollution, consider the
following statements:

1. Marine life is sensitive to artificial light, with
lower wavelengths being dominant.

2. Biologically significant amounts of artificial
light pollution occur in 1.9 million square km
of ocean to a depth of 1 meter.

3. In areas with clear water the light can reach
depths of more than 10 meters at night.

How many of the above statements are correct?
(a) Only one (b) Only two

(c) All three (d) None

Consider the following statements regarding
deoxygenation in water bodies:

1. This means an increase in the level of
dissolved oxygen in the aquatic environment.

2. Deoxygenation is a factor in greenhouse gas
emissions and toxic metals emissions.

Which of the statement(s) given above is/are
correct?

(a) 1only (b) 2 only

(c) Both1and2 (d) Neither 1 nor 2
Consider the following statements regarding flood
situation in India:

1. According to the State of Climate in Asia
Report, 2021, India suffered a loss of $ 716
billion due to floods in 2021.

2. According to the National Disaster
Management Authority, every year an average
of 1600 people lose their lives due to floods.

3. According to data compiled by Climate
Trends, July 2023 recorded the lowest rainfall
in the last five years.

Which of the statement(s) given above is/are not

correct?
(a) 1only (b) 2 and 3 only
(c) 3 only (d) 1,2 and 3

Which one of the following is correct about
floodplain zoning?

(a)
(b)

This is the area near the source of the river.

This is a flood prone area when the river is in
spate.

(c) It is formed at the mouths of rivers forming
estuaries.

None of the above

(d)
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33.

34.

35.

36.

A € W, ARER! § U YR & Ged H,

frafafeg womi wm foar s

1. 3HHT H5 ASMN Wi & FHT ol

2. 39 &Y 9 Y9I TR &7 1 G @
TS I AR 5 forvd ole To@ & ® 9
o ifya fan w2

3. 3H HT HT HRUN STHIGT T T A
e % WY S fewn H srfieR 2

ST el W W wA-G/H T 22
(a) *ad | (b) Fae 2 R 3
(c) o 1 3R 3 (d 1,2 33

e W % ged o, frefafag § 9 sE-m

HuF T TE @2

(a) THaT fmfor gy & do9 @ gon ?

(b) s{mﬁq;wa%wwsaﬁsﬁgéﬁq&;é
@ 3

(c) o |FR & TdRe S & avaE o gfg

B W R

D TR q H e 3.88 fae./ad wt

Y el 8 W R

AR Feharal i 3cdfd & |ad H,

frafafed wol W foer #ifs:
1. =7 =sharal & diesh AW 9 i S S @)
2. W YELETHE &7 H oia ¥ fadeR &
e H 3 Sardl 1 ScArd e B
3. 9 Fshardl &l T 9 ¥ SWhiesg
Tehardl 1 S0 H T S Rl

ITE § @ fohae wer wEl ©2

(a) Had TH (b) wad ]

(c) |t @ (d) & ot 7T

it fomee whet Tafd 2

(a) TEEFRI &1 e A9 o

(b) JHT HF H A TH I

(c) =H WEH TS w1 Huw

(d) SgHSA T T HIIHR

TA ¥ 9= & 9R ¥ fefafed § @ wF-@

T T T 22

(a) I8 UNEP & iaiid ¥R HR TAGIfead grI
forerfa €1 wiewd @

(b) & W oo § @, g, MR, Ser ek
T T ST Tt w1 dh I ©

(c) ¥ fafdre snffer & aret 3o gr X Frrssheo
& o ST fod 9H ot & & IR o
SR T @

(d) 9% TR wad sifysw W f=hdo ora
IR 9 BN R

(d)

32.

33.

34.

35.

36.

With reference to the recent earthquake in
Morocco, consider the following statements:

1. Its center was near the capital Rabat.

2. The medina, the ancient part of the Marrakesh
area affected by this earthquake, has been
designated a World Heritage Site by
UNESCO.

3. The cause of this earthquake is the convergence
of the African Plate with the Eurasian Plate in
the northern direction.

Which of the statement(s) given above is/are

correct?

(a) 1 only (b) 2 and 3 only

(¢) 1and3 only (d) 1,2 and 3

With reference to the Red Sea, which of the

following statements is not correct?

(a) It was formed due to the sinking of land.

(b)

(c) The temperature of the inner waters of the
Red Sea is increasing.

Its width is increasing due to seismicity.

(d) Its sea level is rising at the rate of about 3.88
mm/year.

With reference to the origin of Mediterranean
cyclones, consider the following statements:

1. These cyclones are also known by the name
Medicanes.

2. These cyclones usually originate in the
Mediterranean region between the months of
April and September.

3. These cyclones are formally classified as
tropical cyclones.

How many of the above statements are correct?
(a) Only one (b) Only two

(c) All three (d) None
Saffir-Simpson scale is related to-

(a) measuring the depth of the oceans

(b) locating the epicenter of the earthquake

(c) measure of extreme weather events

(d) measure of atmospheric pressure

Which one of the following is not correct about
Marine Sand Watch?

(a) Itis a data platform developed by the Center
for Analytics under UNEP

It tracks dredging activities of sand, mud, silt,
gravel and rock in marine environments

(b)

(c) It gives information about the areas used for
sand extraction by countries with exclusive
economic zones.

(d) According to this, most sand extraction takes

place from the Arabian Sea.
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40.

41.

qrd ° onfegy = feufa & ded o, frefafed

FAl W =R Fifee:

1. e, HeNre 3R sfifewn dnfead wUeR
e &S T B

2. € HEW HA H UL | U Sl 2

3. 9RA A aAfeaw =i fafed 30 fapfesrat few
o gfua feman 21

ST For H§ 4 HHA-UA TE B2

(a) Had 1 (b) et 2 3N 3

(c) wad 1 3R 3 (d 1,2 3R 3

wfgd & fagia & el o, frafafea wei w

fo=r wifsE:

1. =& o e &1 s faem 2

2. 3 T R =HE &% U= SeE % ®9
o HumE S

3. T & ¥ 39 fagid &1 Seated & % SR
S H W TRl | STl i gfaafid
T fean 2l

STE § @ fohae weR wEl ©2

(a) Fad Th (b) ot

(c) |t @ (d) =g +f T

oz & favi 9 9§ gefua f=fafaa sem =

foem wifsa:

1. 9Rd & Gfoum ¥ 9o & fovm 99 i &1
Jeoi@ & R T R

2. UM % HUR 9Rd % diHed & ¥ae W
Wk T A TS HT 9T T el 2

3. dfaum & T =8s-352 | e &1 fowiy oo
AT, S H1 5w B

ST Fo H § HA-TUA TE B2

(a) el 1 3R 2 (b) wa 2

(c) wad 1 3R 3 (d 1,2 3R 3

T =nfaes gefie & SR o, ffafes § 9

HIA-F HUT T T 22

(a) 3-HI UNER & AT T ST S

(b) TE Uk sy WES GRS B

(c) T8 -+ ufEer & fda o & ®9 H
CERIRICI

(d) =& 22 ardtass g9 § e R S B

qRd & U UPI-ATM ¥ wafua frefafed

FeAl W fo=m Fifee:

1. 39 5 fad@, 2023 =1 fear=n dde wfdes
BN == fRan
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41.

With reference to the status of Vanadium in India,
consider the following statements:
1. Karnataka, Maharashtra and Odisha are the
states with large Vanadium reserves.
2. Itis found in the rocks of Cuddapah sequence.
3. India has notified Vanadium among the
identified 30 Critical Minerals.
Which of the statement(s) given above is/are
correct?
(a) 1 only (b) 2 and 3 only
(¢) 1and3 only (d) 1,2 and 3
With reference to the principle of Laicite, consider
the following statements:
1. This is the German idea of secularism.
2. This is considered as the formal separation of
state and church.
3. Recently the Abaya has been banned in public
schools in Germany due to violating this

principle.
How many of the above statements are correct?
(a) Only one (b) Only two
(c) All three (d) None

Consider the following statements related to the
special session of Parliament:
1. The term ‘special session’ of Parliament is
not mentioned in the Constitution of India.
2. According to the Constitution, the Speaker of
the Lok Sabha calls a special session of the
Parliament on the advice of the Cabinet of
India.
3. There is mention of calling a special sitting of
the House in Article 352 of the Constitution.

Which of the statement(s) given above is/are

correct?
(a) 1and?2 only (b) 2 only
(¢) 1and3 only (d) 1,2 and 3

Regarding National Judicial DataGrid, which of

the following statements is not correct?

(a) An online database under the e-Court project

(b)

(c) It has been built as the third phase of the
e-court project.

It is a centrally sponsored project.

(d)
Consider the following statements regarding India's
first UPI-ATM:
1. It was launched by Hitachi Payment Services
on September 5, 2023.

In this the data is updated in real time.
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2. W€ Uk ®EZ W& ATM (WLA) 2 s
AR T e & deam o fosmfaa
o T R

STgF weAl ¥ W wH-G/A T R?

(a) ®aa 1 (b) Had 2

(c) 1 &R 2 g (d Fd 1 SARAE2

frefafaa § 9 fFw 3w =t 91 7 wifen gAE

%GR 1 @IS A GU W H1 T TR FHeell

X T o 82

(a) wrEIferam (b) T

(c) Tiferm (d) T

TR 1 I 1 3Tederal W STElipia 9

Hefua frefafed weoml w foem Fifse:

1. SR %1 9fewhR 39 & R T © s
o 9 Hefa 2

2. U IMEA & qEd ARG 1 38T ’g O B
o T S I & AN S
FMA ¥ Hafud fom w1 TIaR U HT
T 2

ST He W W HHA-A TE B2
(a) e 1 (b) Heret 2
(¢) 1 @2 =H (d Fa 1 ARTE2

W GHER B =fed do et hiief~aa sehiHiHs

TR 1z | wftaferd <1 % e #i fefated

9 form 98 9 S S 22

(a) fommees (b) ™

(c) TEHtsf (d) @

THIcyE ¥ Fafad Fefafad we | faeur

EAISRE

1. THIAHIA THh-leh & SYAT g had
RS gl w1 € fAwifd Y TR B

2. I gR FAfHa THR 9o TR dehHish Trhfas
TARhIE W Ui )

IwfE wUAl W 9 SE-FUA w1 22

(a) Fad 1 (b) waA 2

(c) 1 &R 2 i (d Ta 1 ARTE2

frafafed wol W foer #ifs:

HIA-1 : T & H Aiforn o o1 foAme |1e

I ST SRHeed e & ford forieRr 3gwmn

S TRl 2

HIA-11 : ST AR a9 Bt ¢ 5d T =
e YUIAT & 3T @ YUMTG™! & si9 Sihg ol
S 2
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2. Itis a White Label ATM (WLA) developed
in collaboration with National Payments
Corporation of India.

Which of the statement(s) given above is/are
correct?

(a) 1only (b) 2 only

(c) Both1and2 (d) Neither 1 nor 2
The army of which of the following countries has
seized power in the country, rejecting the results
of the recent elections?

(a) Somalia (b) Senegal

(c) Gambia (d) Gabon

Consider the following statements regarding
Myanmar's rejection of the ASEAN Chairmanship:

1. The Myanmar boycott is related to the ongoing
civil conflict within the country.

2. Despite clear legal obligations for the military
to protect civilians under military rule,
relevant rules of international law have been
consistently ignored.

Which of the statement(s) given above is/are
correct?

(a) 1only (b) 2 only

(c) Both 1 and 2 (d) Neither 1 nor 2

By which of the following names is the group of
countries included in the term Regional
Comprehensive Economic Partnership often
discussed in the news known?

(a) BIMSTEC (b) ASEAN

(¢) SCO (d) SAARC
Consider the following statements related to
echolocation:

1. Only bats can determine the location of objects
by using echolocation technology.
2. Man-made sonar and radar technologies are
based on natural echolocation.
Which of the statement(s) given above is/are
correct?
(a) 1only (b) 2 only
(c) Both1and2 (d) Neither 1 nor 2
Consider the following statements:
Statement-1: The recent devastating floods in
Libya can be attributed to the Omega atmospheric
phenomenon.
Statement-II: Omega blocking occurs when a low
pressure system is trapped between two high
pressure systems.
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SuE weAl & AR |, Frefetaa § 9 wE-w

TF T 2

(a) HUA-1 3R HeHA-11 <A F&l & qen HeE-11,

HUA-1 HI L A B

HUA-1 IR HUA-11 <A1 Tl € qe HeA-11,

HYA-1 *1 T =Aen T

(c) HUA-1 Tl ® fobeg HoA-11 7o @

(d) H¥F-1 o & foreg HUA-11 W

ORAT Tderaen &1 gaue feafa ¥ wafuq

frAfafaa wul ® faer wifa:

1. 3=9 GEERITG ST & @ g & <L
T et YR 1 wdl w1 HuEA fam
¥ 2024-25 7 & T @@ @ T 2

2. F9 202324 & T At W W
AR 9fg 7.5% ®

(b)

IwfE FeAl 9 9 SE-FUA w1 27
(a) Had 1 (b) ®ad 2
(¢) 1 22 =F (d) a1 SR A2

TMeeated ugea & bed #, frfafea & =

HIA-H HU T 22

(a) -THE F 97 & <l 9 fmn v Fmio
YR e €

(b) STadie # Soh fuel &1 T ga@an

(c) ereieazen & fod ws ereet feerfa

(d) He™TR § STeAferh <Te el &

TRl el ol % wed ®, fafatea weet

T foar Fifsa:

. w9 vl wewll o6 Hewn @iufad %
Fda R gu fafaEfrg ok gedafa
B 2

2. A 2021 % ARA H @I 1539 IEA
el wiufaar off|

3. SfrT & W wed Wewr wiufaal s«
e AR 3% &1 T ¥ & @ 2l

ST wedl § 9 HA-T/A T 2R

(a) e 1 3R 2 (b) HaA 2

(c) ol 1 3R 3 (d 1,2 3R 3

frafafed wol W foer #ifs:

1. WUE e e

2. R4 fo@ A uf=med s afafa

3. FqUsg Ywo 3R Smn gt

4. IfThTES UHTH gITHY
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Regarding the above statements, which one of the

following is correct?

(a) Both Statement-I and Statement-II are correct
and Statement-II is the correct explanation of
Statement-I.

(b) Both Statement-I and Statement-II are correct

and Statement-II is not the correct explanation

of Statement-I.

Statement-I is correct but Statement-II is

incorrect

(©)

Statement-I is incorrect but Statement-II is
correct

(d)

Consider the following statements regarding the
current state of the Indian economy:

1. In view of high inflation expectations, the
possibility of any cut in interest rates has been
postponed till the financial year 2024-25.

2. The estimated GDP growth for 2023-24 is
7.5%.

Which of the statement(s) given above is/are

correct?

(a) 1only (b) 2 only

(c) Both1and2 (d) Neither 1 nor 2

In the context of the Goldilocks scenario, which

of the following statements is correct?

(a) The area of the earth's crust where the
formation of magma begins

(b) A series of meteorites in space

(c) an ideal situation for the economy

(d) high pressure area in the oceans

With reference to urban co-operative banks,

consider the following statements:

1. All urban co-operative banks are regulated
and supervised by the Central Registrar of
Co-operative Societies.

2. As of March 2021, there were about 1539
urban cooperative societies in India.

3. The market share of urban cooperative
societies in the banking sector is continuously
increasing at the rate of 3%.

Which of the statement(s) given above is/are
correct?

(a) 1and?2 only (b) 2 only

(c) 1and 3 only (d) 1,2 and 3
Consider the following statements:

1. Prepaid Payment Instrument

2. Bharat Bill Payment Operating Unit
Committee

3. International Remittances and Trade
Committee

4. Unified Payments Interface
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ST | 9 fRat tHew wefaa e sfear &
sfaqifa el Su-afafar €2

How many of the above are sub-committees under
the Payments Council of India?

(a) Had TH (b) e & (a) Only one (b) Only two
(c) Haa o (d) It IR (¢) Only three (d) All four
51. dfaw fafm aiffie 99 & o9y o= 51. Inthe context of the challenges faced by the global
ﬂT-ﬁﬁr&ﬁ' 3 Hef o frefafad wedi w AR financial ecosystem, consider the following
tatements:
LYY s
- . 1. Cryptocurrency is sensitive to cyber attacks,
L. ) I ) AR & hacking, theft, fraud and scams due to its
) N % x ’ gﬁﬁ et A anonymity and decentralization.
% i ) ! ) 2. Cryptocurrency prices are highly stable, which
2. Tl iﬁ { st feem €, i is reliable for users.
.313[ @ fot for ? 3. Crypto currency is environment friendly.
3 % A E Which of the statement(s) given above is/are not
SudE el W W wE-"/A g T 22 correct?
(a) o 1 3R 2 (b) e 2 3R 3 (a) 1and?2 only (b) 2 and 3 only
(c) ®ad 3 @ 1,2 33 ¢) 3onl (d) 1,2 and3
y
52. T=fafed gn:ﬁ T fa=r s 52. Consider the following pairs:
(dR o) ( ofafeer E@lﬁf ) (Solar Mission) (Space Agency)
1. U 9ieR 919 — T 1. Parker Solar Probe — NASA
2. HieR Ue efeEreniie- Huog 2. Solar and Heliospheric — CAS
3. HIME-1 e’ g - el 3. Kuafu-1 Solar Probe - JAXA
‘o“TﬁT:R-I 59 fpe T E.ﬁ.m ¥ How many of the above pairs are correctly
(a) BT TH - (b) Fae = matched?
() = FH % o T (a) Only one (b) Only two
c
) ) (c) All three (d) None
53. WA % Wed O fivE enfed-wal & e #, : o .
o 53. With reference to India's first Solar Mission
FET W : Aditya-L1, consider the following statements:
I. 38 fRM %1 98T GSLV-C57 The 5N 1. This mission was launched by a GSLV-C57
fean ) rocket.
2. T 1 Y fr sty 7 o e 2. Aditya-L1 has a mission duration of 7 years.
3. s _@ 1 Tﬁ_g%ﬁ q.: ot & E"ﬂS fag 3. Aditya-L1 will be placed in a halo orbit around
2 % IR SR TH guHed wel § T the Lagrange point 2 of the Sun-Earth system.
fean s How many of the above statements are correct?
Stde H 9 o we wet ®72 (a) Only one (b) Only two
(a) Had TH (b) FaaA 7 (c) All three (d) None
(c) I @ (d) = oFf T 54. With reference to the Draft National Strategy on
54. T Vet WA e & e §, frefete Robotics, consider the following statements:
S e AT 1. The Draft National Strategy on Robotics aims
T agen— ’ NS 7 3 to establish India as a global leader in robotics
) Af . .7 S by 2027.
E!'Ef—Z()E? ﬂiﬁﬁ i ﬂgﬁ i 2. This strategy focuses on strengthening all
& ?m'll dimensions in the innovation cycle of robotic
2. TR Tatfes Hrenfn FANT = technolo
. ¥ o gy-
| wefl k2l I T W e Which of the statement(s) given above is/are
STE wedl ¥ ¥ wE-"/A T 22 correct?
(a) ®aad 1 (b) wad 2 (@) 1 only (b) 2 only
(c) 1 @R 2 T (d Fa 1 dRTE2 (c) Both1and?2 (d) Neither 1 nor 2
S 641, UOM A, | 21, YWT TS, | 13/15, A9Tehe AT, ke | wife Fow-45 9 45-A ¥9 | 47/CC, Sfefres
i 2% qEsi TR, HUA &, ufreht <inreT, fafae 2TaR-2, A Sk Ag, | oehs Atw, Taamran
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55. frafafad woml W faar sifs3:

1. 3eHAA HERM AE Udifedd (IFR) &
SIER IaAE § AR % SREH | 15
fifer Jeie wria 2

2. a9 2021 | §eft U G s W @ 74%
wfren | wrfua fRd g €

ST oAl ¥ 9 HA-T/E T 22

(a)Wl

(b) Had 2

(c) 1 @R 2 g

(d Fd 1 A2

56. anfeam =1 afvas feafa & wed o, Frfatad

FAl W fo=m Fifee:

1. A, dAfedq &1 Had W SwRE 3R
IuHeRT B

2. st aRfeam o1 ged @g1 frafas 2w 2

ST For 4 HHA-TUA TE B2

(a) Had 1 (b) HaA 2

(c) 1 32 T (d) a1 A2

57. Ug% Hufd W = & H gaied =R R gAn
™ hEd & wed o, frefatea we W feEw

EAISDR

1. T St S foare 9 e gu = fdem
FHIT & T8 Hg feg INAR &1 §afd |
o wrar-faan w1 T 9w Y Gehd B

2. Fdled =Eed 4 ®wde g & faa-
feterfy & R @ U1 gu S wl Ay
M ST Hehell B

3. SUEE Tiel M UiEE, 2022 9% H
e 3 °qE HT e aHed & A ar
&g qeu &1 @-sifSia dufd, TR g7

55. Consider the following statements:

1. According to the International Federation of
Robotics (IFR), there are currently 15 million
robots working in factories around the world.

2. 74% of all newly deployed robots in 2021
have been installed in Asia.

Which of the statement(s) given above is/are
correct?
(a) 1only
(b) 2only
(c) Both 1 and?2
(d) Neither 1 nor 2
56. With reference to the global status of Vanadium,
consider the following statements:

1. China is the largest producer and consumer
of Vanadium.

2. Brazil is the largest exporter of Vanadium.
Which of the statement(s) given above is/are
correct?

(a) 1only (b) 2 only
(c) Both1and2 (d) Neither 1 nor 2

57. WithreferencetotherecentSupremeCourtjudgment
on ancestral property, consider the following
statements:

1. Children born of void or voidable marriages
can inherit their parents' share in the joint
Hindu family property under Mitakshara law.

2. The Supreme Court ruled that children born
to partners in a live-in relationship can be
considered legitimate.

3. In the case of Arunachal Gounder vs.
Ponnusamy, 2022, the Court held that the
self-acquired property of a Hindu male who

TR B dies without a legacy will be transferred by
. . inheri .
E ¥ A FraY Fom T %? inheritance
@) 3 e (b) Fa A I(i())w On:;nyoii the above s(t;;erge;;ts ta;rlz correct?
(c) |+t = (d) & o 7T Y Y
] (c) All three (d) None
38 W W : 58. Consider the following pairs:
gp
( mw % ®) (rgroT) (Forms of Undernutrition) (Symptoms)
L. .EE. - FRH ST HH a9 1. Wasting —  Low weight-for-height
2w N mi AIET hH et 2. Stunting —  Low weight-for-age
. Y oS - g ey e R . :
3 3. Underweight —  Low height-for-age
sefF § ¥ frat gm wet gafaa 22 How manyoftheabovepairsarecorrectlymatched?
(a) g TH (b) woA I (a) Only one (b) Only two
(c) 9 @ (d) =g off T (c) All three (d) None
- 641, UOW O, | 21, YET AT, | 13/15, AI9TRSE T, e HoT-45 T 45-A 47/CC, wfet
S e rt, freRe | @A Exl Elicicet
» qEsi TR, HUA &, ufreht <inreT, fafae 2TaR-2, A Sk Ag, | oehs Atw, Taamran
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59. B & H 9Rd H IWA ARl g AHE Th

O S’ &t T, T99 gafuya frefatead wee

T foar Sifsa:

1. = i g it wfafafy Sme Juem
(NASSCOM) + 3TR&teTE (RBI) & @M
IEREZESIAETI

2 W H T H 26 U dehAihl fEw A
IW R® T T ol T 1 & I I B

3 39 RO & S8R 30 & 60% &A% B

el W o 2
Swde § 9 fohad e wEl €72
(a) HIA TH (b) HaA T
(c) |+t o= (d) =g o T

60. feg fafvmi @ wafya fr=fafed wol | fa=ar
Hifsa:
1. Toaiem A 1 SO0 Hadl STA 3R
arE| § T S 2
2. @AM &R fg sfamfaa afer & =i
o o= forea 3R wuta o e & e
=1 et s 21
3. To@e™ A & d8d T 91 59 § & 9gE
RER 1 Uge Hafa o gHer g 2
ST Fer 4 HH-TUA WE T 87
(a) @ad 1 3R 2 (b) et 2 3R 3
(c) Faa 3 (d 1,2 3R 3
61. TR ST % SR § frefatEd o 9 SE-9 %
Tdt T 7?2
(a) % YIRA & Taadl STSed &1 qeel Aieel
IR Fel S 2
(b) € TH =@ AN e o 3R ad 1942
% IR B! ST HI TV T o
(c) TRH IS 3R THH & T Foy i
T HU WIgaSh! &1 gHA foham
(d) W SR I ITH Wef W BH HEHT
e ol
62. QA % 9@ 9 9@ % aR d, Frefaraa
Fol W foeR Fifsa:
|. 39 GYEE 1 AEA WHR gRI AR
I W = SHESI B w9 H oged fw
SIS
2. 3R TN WHR gN 3 fumer ol & ®u
¥ stfergfaa feran smar 21

59. Recently a report titled Emerging Technology
Hubs of India was released, consider the following
statements related to it:

1. This report was released by the Information
Technology representative association
NASSCOM in collaboration with RBI.

2. There are currently 26 new technology
investment destinations emerging in the
country. These include only Tier 1 cities.

3. According to this report, 60% of the country's
graduates come from small towns.

How many of the above statements are correct?
(a) Only one (b) Only two
(c) All three (d) None

60. Consider the following statements regarding Hindu
laws:

1. Mitakshara law is followed only in Bengal
and Assam.

2. Dayabhagalaw governs the rules of inheritance
and property rights among the members of a
Hindu undivided family.

3. Under Mitakshara law, a son is entitled to the
ancestral property of the joint family by birth.

Which of the statement(s) given above is/are not

correct?
(a) 1and2 only (b) 2 and 3 only
(¢) 3only (d) 1,2and 3

61. Which of the following statements is not correct
about Mangri Orang?
(a) Sheis called the first female martyr of India's
freedom movement.
(b) She was a tea plantation worker and a leading
member of the Quit India Movement of 1942.
(c) She supported Congress volunteers in the
prohibition campaign against liquor and
opium.
(d) Mangri Orang was called Malti Mem by his
companions.
62. Regarding the tea plantation community of North-
East, consider the following statements:
1. This community is officially referred to as the
Tea Tribe by the Government of Assam.
2. They are notified as Other Backward Classes
by the Government of Assam.

S 641, UUH T, | 21, GET AT, | 13/15, A9he UH, Fiehe | wife FoR-45 9 45-A &Y 47/CC, Ffete
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63.

64.

65.

66.

67.

3. & gl & fafew sfufafies e g
IR oy g & & o fRfafen Aoy &
®q | fufafies o e | R T e

ST § @ o wmer wEl ©2
(a) HaA TH (b) HaA
(c) I @ (d) i ot T

T @ W G20 0 & frer wwer ¥ weRi

TEr o ® Feus gfd & §ed d, ffaftaa

FHeAl W faamr Hifsa:

1. 39 gl ! Flesh & HRIR GRI 3Teg
FIR femen T R

2. 9Rd WeUY &1 39 S qfd kI g @
Tt ‘T FwIfeT fafy &1 ST S s
T R

SwE wAl W 9 SE-"/A TE 27

(a) Had 1 (b) HaA 2

(c) 1 3R 2 g+t (d) a1 SRAE2
frefatea g ® foar i
(FeUs gfd & weiR ) (21d)

1. A& - o & AR

2. vMmad A - Sfial

3. 3T g - el HT AR
Sudm | 9 fohad g el gaferd ©2

(a) g TH (b) ®ad |

(c) =t = (d) HE off T

‘T B TS T dee’ frefafead o 9 fege! gfag
T ®?

(a) THST TR (b) s facren

(c) Sd &. & st (d) TelET™ SR

gaga Al & 9R H, Freafafed sl w faar

Hifs:

1. 9% FEv Seea aen fawEes 3 et
TArET H Aell W ST fos & Iuded o
HEET |

2. U8 ThH AR & MHR & A g, S e
foro] =1 wwfta 21

SUgH weAl § W wA-G/d T 22
(a) #ad 1 (b) Feret 2
(c) 1 3R 2 T (d) Td 1 ST 2

AR USE ghd & ded o, f=fafea womi w

fo=m wifs:

1. 3% 9 §gh/ERER ae Sueied & &9
¥ Hefifa foran s 21

63.

64.
(Symbols of Nataraja Statue)

65.

66.

67.

3. These groups were brought to colonial Assam
by British colonial planters as indentured
laborers from the areas of present-day
Jharkhand, Odisha, Chhattisgarh, West
Bengal and Andhra Pradesh.

How many of the above statements are correct?
(a) Only one (b) Only two

(c) All three (d) None

With reference to the Nataraja statue of Lord Shiva
displayed at the recent summit of G20 countries,
consider the following statements:

1. This statue has been made from Ashtadhatu
by the artisans of Karnataka.

2. This Nataraja statue of Bharat Mandapam
has been made using the extinct 'lost-wax'
process.

Which of the statement(s) given above is/are
correct?

(a) 1only (b) 2 only

(c) Both 1and2 (d) Neither 1 nor 2
Consider the following pairs:

(Meaning)

1. Damru — Sound of Creation

2. Eternal Fire — Blessing

3. Abhaya Mudra — The path to
salvation

How many of the above pairs are correctly
matched?

(a) Only one (b) Only two

(c) All three (d) None

‘The Home and the World’ is a famous creation
of which of the following?

(a) M.G. Ranade (b) B.G. Tilak

(c) Utpal K. Banerjee (d) Rabindranath Tagore
Regarding Hoysala temples, consider the following
statements:

1. It was built by the Hoysala kingVishnu-
vardhana to commemorate his victory over
the Cholas in the thirteenth century.

2. It is a star shaped temple, dedicated to Lord
Vishnu.

Which of the statement(s) given above is/are
correct?

(a) 1only (b) 2 only

(c) Both 1and2 (d) Neither 1 nor 2
With reference to Over-ground workers, consider
the following statements:

1. These are referred to as militants without guns/
weapons.

S 641, UUH T, | 21, GET AT, | 13/15, A9he UH, Fiehe | wife FoR-45 9 45-A &Y 47/CC, Ffete
A @St T, A S, ufsrert =i, fafaer 2TaR-2, A Sk Ag, | oehs Atw, Taamran
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2. B e H W—W %I gfed R SR 2. Recently, two Over-ground workers associated

T ¥ ave-T-ager 9 IS I AR AT with Lashkar-e-Taiba have been arrested by
g F fRwR fea T 2 Jammu and Kashmir Police from Baramulla
- . district.
qu’éiiﬁ Ferl ° G B w@ e Which of the statement(s) given above is/are
(a) 9 1 (b) et 2 correct?
(c) 1 3R 2 <M (d Fd 1 &RAE2 (a) 1 only (b) 2 only
68. W‘W IED TReT Afufm (PSA) Q gefag (c) Both 1 and?2 (d) Neither 1 nor 2
frefefed ol @ foar | 68. Consider the following statements regarding
| za sifufEm 5 ad 1978 F SR T Jammu and Kashmir Public Safety Act (PSA):

1. This Act was enacted in the year 1978 to stop

H Bl 1 el I % ford ar f=n smuggling of arms in the state of Jammu and
BRI Kashmir.
2. 9% U fana iy s ? S 79 TR 2. Itisapreventive detention law that allows the
i fom gared & ot =afea i fewwa o weH state government to keep a person in custody
o arHfa = 7 even without trial.
3. TP gN AREd & %_2[. gfer eSSl 3. In order to make an arrest, the police are
wfrSe a1 G S 5 TR e required to obtain an administrative order
” from the District Magistrate or Divisional
T I HTAT SAEIF el T Commissi
ommissioner.
-gqg[sﬁ Forl # W HA-TA W 2 Which of the statement(s) given above is/are
(a) Had 1 (b) e 2 3R 3 correct?
(c) wHaat 3 (d) 1,2 3R 3 (a) lonly (b) 2and 3 only
69. Freferfad Tt W fomw FH: (c) 3 only (@) 1,2and3
L 5 R 69. Consider the following states: .
1. Nagaland 2. Manipur
3. 4. g 3. Mizoram 4. Tripura
ST " § fhad A H erwed erfufEm In how many of the above mentioned states is the
o @72 AFSPA Act applicable?
(a) g TH (b) waa (a) Only one (b) Only two
(c) waa o (d) |ft =R (c) Only three (d) All four

20, @ S s g T O e 70. With reference to Khalistan movement, consider

the following statements:

: ) ) 1. This is only a fight demanding a separate,
1. F8 ol G & FqEE gSe H T S, sovereign Sikh state in present-day Punjab,
Ty Ta@ T=T I AT Hl R ASE B India.
2. S =A% U=, 1986 AR 1988, TH 2. Operation Black Thunder, 1986 and 1988,
3N Rl SO % T3 =@ = ANl was initiated to suppress this movement.
s weoA § @ AT Td 3 Whlclri?of the statement(s) given above is/are
correct?
(@) o1 (b) o 2 (2) 1only (b) 2 only
(c) 1 ¥t 2 < (&) T 1 ST A 2 (c) Both 1 and 2 (d) Neither 1 nor 2
71. T | Hatud Frefafed sweml W foar #IfS@: | 71, Consider the following statements related to
1. 39 ifyfTom &l 9Ra & Tgdfa & Hwl & AFSPA:
T FaA BE TWHR & M Ghdr 2 1. This Act can be imposed only by the
2. Tq afufrm & ded Hafdd efuew f IC)ent.lzil (;ongcelrrilment after the approval of the
. . resident of India.
e & el 9’ H wemr o1 qeani o
3 2. Under this Act, the concerned officer can enter
. ! o or search any premises without warrant.
3. H ¥ 1 o 1968 A %2 3. InlIndia, this Act was passed by the Parliament
5R1 TR fepan in the year 1968.
e o 641, UOM A, | 21, YWT TS, | 13/15, A9Tehe AT, ke | wife Fow-45 9 45-A ¥9 | 47/CC, Sfefres
3 @St TR, HUA &, ufsrert =i, fafaer 2TaR-2, A Sk Ag, | oehs Atw, Taamran
(Magazine Test) [ERESSUSIUID T et TE, TS TGERT A, TR i, e
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72.

73.

74.

75.

76.

STfE FUAl § 9 ®A-9 T 22

(a) a1 3R 2 (b) Haet 2

(c) ot 2 3R 3 d 1,2 3R 3

frAfafea wul ® faar wifa:

1. feoet (fovmw gferd Tomoem) &1 90 6A
#% WHR & TP groa iR a8 SR &
sAferpifal &1 CBI @R ED &% g1 <itgl ©
T T FW Tl

2. Iedan =aaad | feeeht (foem gferd Temen)
F U GA I SH S T 2

ST weAl § 9 HA-A/A T 2R

(a) Faa 1 (b) ®ad 2

(c) 1 3R 2 <A (d Ta 1 RTE2
FET T A faar AEnfyw w1 Ted
frafafea & 9 feg ad fFan mn?

(a) 1990 (b) 1988

(¢) 1991 (d) 1996

Topefl T e & Wed d, fAfafad s

T foar Fifsa:

. I8 lesh & Sw-ulvad wH o from 2

2. e HAR Tk e w1 s fewmn 2

3. HafiR T8 el U< S@E w1 9™
w21

STdF § @ fRad weH Tl ©?
(a) HIA TH (b) woA I
(c) =t (d) =+ ot &

T de oen & w3l o, Frefafed werl w famm

HIfe:

1. T de «en fova § god o1 e den @
3R IUCN E fae ¥ 50 fiehe ghen &
w7 | yHas fFm w2

2. I8 YEAd: Q&g g9 W 9En S g

3. gEdra Tfafaf, s S5 § STEm SR
Hfua siwefia ST % RO 3 @A 2

ST el § W HA-9 T 2?2

(a) el 1 3R 2 (b) wae 1 3R 3

(c) wad 2 3R 3 (d 1,2 3R 3

ot T T HrER @ el o, et

Fol W foeR Fife:

1. "y g fask@ s gl di-a 39
digeoe) i fefSea ufsas €@ & &9 °
I YSE T T 2

72.

73.

74.

75.

76.

Which of the statements given above are correct?
(a) 1and2 only (b) 2 only

(c) 2and 3 only (d) 1,2and 3
Consider the following statements:

1. Section 6A of the Delhi (Special Police
Establishment) Act exempts Central
Government officers of the rank of Joint
Secretary and above from investigation by
the CBI and ED.

2. The Supreme Court has declared Section 6A
of Delhi (Special Police Establishment) as
invalid.

Which of the statement(s) given above is/are
correct?

(a) 1only (b) 2 only

(c) Both 1 and 2 (d) Neither 1 nor 2

In which of the following years was the Kaveri
Water Disputes Tribunal constituted?

(a) 1990 (b) 1988

(c) 1991 (d) 1996

With reference to Mukurthi National Park, consider
the following statements:

1. Ttis located in the north-west of Karnataka.

2. TItis a part of the Nilgiri Biosphere Reserve.

3. Nilgiri Tahr is the main species of Mukurthi

National Park.
How many of the above statements are correct?
(a) Only one (b) Only two
(c) All three (d) None

With reference to Red Sand Boa, consider the
following statements:

1. The Red Sand Boa is the largest sand boa in
the world and is listed as Near Threatened on
the [UCN Red List.

2. It is mainly found in Lakshadweep island.

3. Tt is threatened due to human activities, use
in black magic and alleged medicinal uses.

Which of the statements given above are correct?
(a) 1and?2only (b) 1and 3 only

(¢) 2and 3 only (d) 1,2 and 3

With reference to National Carbon Registry
Software, consider the following statements:

1. This software, launched by the United
Nations Development Programme, has been
recognized as a Digital Public Good.

S 641, UUH T, | 21, GET AT, | 13/15, A9he UH, Fiehe | wife FoR-45 9 45-A &Y 47/CC, Ffete
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71.

78.

79.

2. I8 W *EF ®wfge & AR &I g™
ERIEXY °hl®f"| dl“ﬂl(zﬁmaﬁmﬁl

TR FoR W Y FA-AA T 2

(a) Had 1 (b) Haa 2

(c) 1 &R 2 g (@ Fd 1982

frafafed wol W foer #ifsa:

1. U= BRa sifueeor (NGT) &t Toma ¢
2010 o U Bfa sifuRor etfufam =
qEd h1 T effl

2. A dects, @ 9o gie & AW 9@ @
ST S €, Tk e THE T B

STH oAl ¥ 9 HA-T/A T 22

(a) Had 1

(b) Had 2

(c) 1 3R 2 <

(d Fda 1482

G20 3TURT SHfEd <A w1 T8 & §eH H,

frefafaa wat ® fa=ar #ifa:

1. SHHT LA SSHRET 5/ G20 TAsT &
R T T

2. THHI ILYF AU AR Serery SitEn &
uf Sfvaes eAmRT w1 2 3 1 gl
e refeTeRenet H UH WY A 2

ST Fo H§ 9 HHA-UA TE /2

(a) ®aa 1 (b) ®ad 2

(c) 1 3R 2 g (@ Fd 182

TEId SHIF e (PDO) & gse H, Frfafed

Tl W =R Fifs:

. 98 Uh whid ST & S 8 20-30 a6 |
TeTE S & R ENSO &1 @@ 39d ‘3er’
AR T’ =R g R

2. WHWHH PDO dell ENSO AR W
=3 TE el ®, Bleh ThNcHE PDO
e ENSO © 9rd # aiferk awi &t 21

3. T T (FPRHSB-=0) PDO &1 AT
%Y UG TR d 2l

77.

78.

79.

2. This registry will promote the development of
the carbon market by facilitating the trading
of carbon credits.

Which of the statement(s) given above is/are
correct?

(a) 1only (b) 2 only

(c) Both1and2 (d) Neither 1 nor 2
Consider the following statements:

1. The National Green Tribunal (NGT) was
established in 2010 under the National Green
Tribunal Act.

2. Bhoj Wetland, also known as Bhopal Lake,
is a designated Ramsar site.

Which of the statement(s) given above is/are
correct?

(a) 1only

(b) 2only

(c) Both 1 and?2

(d) Neither 1 nor 2

With reference to the G20 Disaster Risk Reduction
Working Group, consider the following statements:

1. Itwas established by Indonesia during its G20
presidency.

2. It aims to bring together the world's largest
economies to draw global attention to
disasters and climate risks.

Which of the statement(s) given above is/are
correct?

(a) 1only (b) 2 only

(c) Both1and2 (d) Neither 1 nor 2
With reference to the Pacific Decadal Oscillation
(PDO), consider the following statements:

1. Itisacyclical phenomenon that repeats every
20-30 years and, like ENSO, has ‘cold’ and
‘warm’ phases.

2. ENSO with positive PDO is generally not
good, however ENSO with negative PDO
would result in more rainfall over India.

3. A warm (positive-phase) PDO implies fewer
equatorial cyclones.

ST § @ fhad weH Tl ©?
: ) 3 & How many of the above statements are correct?
@ e ?ﬁQ:F (d) = o T (a) Only one (b) Only two
© ) (c) All three (d) None
80. Frfafad = = R Hifel- 80. Consider the following states-
1. & 2. qfAeErrg 1. Kerala 2. Tamil Nadu
3. P 4. FAlek 3. Tripura 4. Karnataka
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81.

82.

83.

84.

85.

IwdH H ¥ o AR W 6g SR F &

®9 4 S WA €2

(a) Faa TH TA (b) oA I TH

(c) Haa T T (d) |+t =i T

e Tt &t qeie & §]d o, frefafad wemi

R faar =it

1. STHETHT TAie § gART H%s gl Hael |
Boehl A Ued et |t s €

2. U gk H faok 9 o T yg@ Oret
Th Al S B

3. AR AR W AR 9% RGN
FHUMSE HAfehd fohan ST e 21

4, 9rut doRR ¥ sl | %s fagell i T
g g ue fafa= I @ wEm fesmea
o ST 21

STdE weAl § W wE-9 T 7?2

(a) ®ad 1,2 AR 4 (b) ®aet 1, 2 3R 3

(c) wad 3 3 4 @ 1,2,3 3R 4

frfafaa wol | faar wifsa:

1. 9Rd fava &1 597 Had a1 HEFA SHRF,
Y B HEA HeR H WHel H 3EU §ad
ESC ]

2. 9Rd ¥ gR@e, Sfifewn, sdag, ufivem
A FHE HFA SARH T § 9 2

3. Il UM & Fafiked fasem & fod ad
1956 ® T wigen faswm frm &1 Terae
HT T

Srfe H ¥ fhan we wet 27

(a) Hod TH (b) ®ad ]

(c) |t = (d) =18 o T

frefafad o @ SiA-91 Eaifefheay 1 Gufed

oftom Y 82

(a) T S fafaear o ufted

(b) wHrEm o a=erE

(c) TEHrRE Teord | HH

(d) g 9% @1 fawr

frefafad § 9 SF-T woF ‘wiwem fHgm’

I H I H FaQ o1 qUH HIT B2

(a) TV =@t ¥ o fRafa & @5 T@r o em

(b) TEH I e & Wihem § TH S
Tehdl I T W g

(c) TE VIR WA & UH UG SRR FE
T e R

(d) 3V Wieem ¥ U 3T § o e em

W e o 2?2

(a) @re-Teiae, SUam R &1 7 U el T
S @R

1.

82.

83.

84.

85.

How many of the above mentioned are commonly
known as rubber producing states?

(a) Only one state (b) Only two states

(c) Only three states  (d) All four states
With reference to the technology of textile
manufacturing, consider the following statements:

1. InJamdanitechnique, weavers make sarees by
adding light colored patterns to white cotton
clothes.

2. Major sarees made from silk in Paithani
technique come under this.

3. In Baluchari technique, mythological stories
are written on the woven cloth.

4. In Bandhani technique, different colors are
used to design the clothes by tying them at
several points with a thread.

Which of the above statements are correct?
(a) 1,2 and4 only (b) 1,2 and 3 only
(¢) 3 and4 only (d) 1,2,3and 4
Consider the following statements:

1. India is the world's 5th largest coal producer,
as well as the 2nd largest country in terms of
coal reserves.

2. Jharkhand, Odisha, Chhattisgarh, West
Bengal are among the major coal producing
states in India.

3. National Coal Development Corporation
was established in 1956 for the systematic
development of the coal industry.

How many of the above statements are correct?

(a) Only one (b) Only two

(c) All three (d) None

Which of the following is not a possible outcome

of Atlanticification?

(a) Changes in marine biodiversity

(b) Change in weather

(c) Decline in ocean salinity

(d) Expansion of Polar Ice

Which of the following statements best describes

the origin of the term ‘Stockholm Syndrome’?

(a) It was coined after the hostage situation in

New York.

It originated from a bank robbery in

Stockholm, Sweden.

(c) This term comes from a famous psychological
experiment in London.

(b)

(d) Tt was taken from a novel in Stockholm.
What is Paryushan Parva?
(a) A Jain festival associated with self-reflection,

fasting and asking for forgiveness.
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86.

87.

88.

89.

(b) TWE W =T FT A HN ST TAR Al
w &g @RN

(c) 7% T & S hi Fid H T faE ARR

(d) TEH g5 H et w1 gEfid ww daig
Ia|

fafafed wol W foer Fifs:

. Sl W Td YRR UM O g
ARAE

2. HalEd SARIeH i YHIAT

3. AT HAWE & TR TR

e H ¥ fhat @1 gy s foden s

T

(a) Had Th (b) HaA A

(c) |t d= (d) & ot 7T

Hiome g Hew & "oy, frefafed wuml =

foar wifs:

1. sE o7 133 Tl § g T ase
% TS RTRRE Yo\ 7 HEmEl o

2. TE HicAT HET ARGl H1 TWHTS € R
feg gd <o =i wmfdq 2

3. I8 UH TIeh! fIve eRiet T € R 5@
10 9T % 9RAT A2 & 6wt @ R

Srfe H ¥ fha we wet 22
(a) Had TH (b) waA ]
(c) |t = (d) =18 o T
frefafea omt ® faEr F it

Tq rafeard
1. Afew g ST TR
2. foig o g S -HTHI
3. M U ga femra w=w
Swde gl o 9 e wet gafea ©2
(a) F9¢ Tk W (b) %A I W
(c) Wt = (d) =iE < g &
frafafed wol W foer #ifs3:

1. dfey e ot safsqal & faors
foaeft efufem 1946, fojeft (Tribunal)
I 1964 R F5 N THA-THT R S
SAfergemTell % HUR #%H S WM €l

2. fersft atfusor s srg-=nfae frem @
e Tme +iE =afeq fomerr wm sifay
T AR Wt (NRC) § &l €, ST
el WEd T Gehdl B

3. daq fossht sfusor & € fedt =afe =t
2 facsht wiftm w@ @1 iR 2
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(b) A Hindu festival celebrating the victory of
good over evil.

(c) A Sikh festival commemorating the birth of
Guru Nanak.

(d) A Buddhist festival dedicated to the teachings
of Lord Buddha.

Consider the following statements:

1. First Indian to receive International Ramon
Magsaysay Award

2. Beginning of Sarvodaya Movement

3. Second Satyagrahi of Individual Satyagraha

How many of the above are related to Acharya
Vinoba Bhave?

(a) Only one (b) Only two

(c) All three (d) None

With reference to Konark Sun Temple, consider
the following statements:

1. It was built by King Narasimhadev I of the
Eastern Ganga Dynasty in the 13th century.

2. It represents the zenith of Kalinga temple
architecture and is devoted to the Hindu Sun
God.

3. Itis a UNESCO World Heritage Site and is
depicted on the reverse of the Indian 10 rupee
note.

How many of the above statements are correct?

(a) Only one (b) Only two

(c) All three (d) None

Consider the following pairs:
Tunnel Location

1. Nechiphu Tunnel : Arunachal Pradesh

2. Shinku La Tunnel  : Jammu and Kashmir

3. Shyama Road Tunnel : Himachal Pradesh

How many of the above pairs are correctly
matched?

(a) Only one pair (b) Only two pairs

(c) All three pairs (d) None of the pairs
Consider the following statements:

1. Steps are taken against persons of doubtful
citizenship as per the Foreigners Act 1946,
Foreigners (Tribunal) Order 1964 and
notifications issued by the Center from time
to time.

2. Foreigners Tribunals are a quasi-judicial body
before which a person whose name is not in
the final National Register of Citizens (NRC)
can present his case.

3. Only the Foreigners Tribunal has the power
to declare a person a foreigner.
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90.

91.

92.

93.

94.

STfE FUAl § 9 ®A-9 T 22

(a) o 1 3R 2 (b) e 1 3R 3
(c) wad 2 3R 3 (d 1,2 3R 3
foreferfan gl W fomm wif:

AT 3T TN & A
1. sffegssm : qRA 3R eI
2. TEU : 9RA SR fares
3. fow=em ?:[T{_cli‘}:ﬁ'(%ﬁw
T T @ e T g 2
(a) F9¢ Tk W (b) %A I W
(¢) = = 7 (d) ®E &t g T

FEe WR I e Fefafad § 9 w1 S

& A stEfea fRan T

(a) 9Rd, fog @R Sy T e

(b) R, e 3R g T Sl

(c) 9Rd, HeR 3R Fug

(d) 9Rd, 9 @I GgFd T ST

TEfoe o & 934 ¥, frfafead wui ) fa=ar

Hiferr:

1. U & oY = fate= fee & st fefa
IR-TIAT0T R Teh HehL &Sl 1 Ica_A fopa
S 21

2. 39 fafy &1 3w AR SUS, oIy
THEIA AR W Gfqlyes emar a9
forrfia @ | foran T 21

3. 3% JEIOE oSl Rl ol H SRR hicar
AR +fift g @ faesfa foran s 2

STH oAl ¥ 9 HA-T/A T 22
(a) 1 32 (b) &a 1
(c) 2 ¥R 3 (d 1 3R 3
forerffian g W R iR
Tt g YT foe feufa
1. ARdE dget : gua
2. @™ : g™
3. few dgam : gua
S g § W e W gt 2
(a) %A TH IH  (b) Had I ¥
(c) w4t = 7w (d) =g o 7 T
fodfew oma 9o & wed H, fr=fafeq wemt

T foar Fifsa:

. 7€ wgRaide ©H Sifvmeet 9 o+ s 2l

2. 9Ra ¥ foefesw AHa gour s9ue &1 FEta
HT Al HiE e S g @ R

90.
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94.

Which of the statements given above are correct?
(a) 1and?2 only (b) 1and 3 only

(¢) 2and 3 only (d) 1,2and 3
Consider the following pairs:

Naval Exercises Countries Involved

1. AUSINDEX : India and ASEAN
2. Varuna : India and Britain
3. SIMBEX . India and Sri Lanka

How many of the above pairs are correctly
matched?

(a) Only one pair (b) Only two pairs

(c) All three pairs (d) None of the pairs
Bright Star military exercise was conducted
between which of the following countries?

(a) India, Egypt and United States

(b) Qatar, Egypt and United States

(c) India, Qatar and UAE

(d) India, UAE and United States

With reference to hybrid seeds, consider the
following statements:

1. A hybrid seed is produced by controlled cross-
pollination between different varieties of the
same plant.

2. This method is used to develop plants with
better yield, more uniformity and disease
resistance.

3. These are often considered more difficult and
slower to grow than certified seeds.

Which of the statement(s) given above is/are

correct?

(a) land2 (b) 1 only

(c) 2and3 (d) 1and3
Consider the following pairs:

Species IUCN Red List status

1. Indian leopard : Vulnerable

2. Tiger : Endangered

3. Snow Leopard : Vulnerable

How many of the above pairs are correctly
matched?

(a) Only one pair
(c) All three pairs

(b) Only two pairs
(d) None of the pairs
With reference to synthetic human embryo,
consider the following statements:

1. These are made from pluripotent stem cells.

2. No specific law exists in India governing
synthetic human embryo research.
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95.

96.

97.

98.

IwfE w9 9 SE-FUA TE 22

(a) Had 1 (b) HaA 2

(c) 1 3R 2 < (@ AFd 182

frferfad gl ™ foEr Fif:
T SriteRat

. @8 9 WAam S Hgu fem

EIES

2. fefSea gamem R : Waed sfeege

3. fova # @@ e : foava o7fefw @
s oo w5 feerfa

Sude gl W 9 fohae wet gafea ©2

(a) od TH IH

(b) Haa 3 IH

(c) =t 99 g™

(d) ®iE ot g T

o aregeren & Hed o, frefafea wem w

fo=r wifsa:

1. TS 9l & TR A wEl off Hie w1 e
v & el 2

2. TSW A & WAl § haet Ush! 3R FHfvea
SRR h1 2 T JAN BT o

ST weAl § W HA-A/A T 2R

(a) ®aa 1 (b) Had 2
(c) 1 &R 2 g (d) Td 1 A2
frefafed T W foam Ffm:
wa FHAEES
1. SF9UEd U : WIEe e

2. e i uetSER AW
afearT

3. ¥v@ w4 : T A

Sude gl § 9§ o @t gufea 82

(a) %A TH FH  (b) Had I J¥

(c) uft & 7 (d) =g 7 T

frfafaa wol ® faar wifsa:

1. TR el § SAReeM tevaeh v o S
gfere deft o emavgs &

2. AR Sreft ® @i e e on e e
& 9 W ek Bl o =l s Sreft o
forer frfada g o ik zas fren =
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Which of the statement(s) given above is/are
correct?
(a) 1only (b) 2 only
(c) Both1and2 (d) Neither 1 nor 2
Consider the following pairs:
Report Published by
1. Clean Air Survey : Central Pollution
Control Board
2. Digital News Report
3. State of Food
Security and Nutrition Forum
in the World
How many of the above pairs are correctly
matched?
(a) Only one pair

. Reuters Institute
. World Economic

(b) Only two pairs

(c) All three pairs

(d) None of the pairs

With reference to Indus Valley Architecture,
consider the following statements:

1. No clear evidence of a temple has been
found anywhere in the cities of the Harappan
civilization.

2. Only baked and fixed sized bricks were used
in the buildings of the Harappan period.
Which of the statement(s) given above is/are

correct?

(a) 1only (b) 2 only

(¢) Both 1 and?2 (d) Neither 1 nor 2

Consider the following pairs:
Stupa Period

1. Amaravati Stupa : Satavahana period

2. Dharmarajika Vedika : Maurya period
of Takshashila
3. Dhamek Stupa . Gupta period

How many of the above pairs are correctly
matched?

(a) Only one pair (b) Only two pairs

(c) All three pairs (d) None of the pairs
Consider the following statements:

1. Adhisthan was an essential element in Nagara
style whereas it was not essential in Dravida
style.

2. InNagara style, there was a linear shikhara on
the top of which there was amalak, whereas in
Dravidian style, the shikhara was pyramidal
and there was a stupika on the top of its

v W wgfeRt ghar e shikhara.
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99.

100.

3. TMgRA iR ekl sfag Helt & S 2

4. g AR SR sfag S diferal § g S
% 3R e A Siferdl H SEdeRR e 2l

Swde § 9 fohad e wEl €2

(a) %A TH

(b) Fad

(c) ®daa @

(d) gt =R

BITe FTe AfR & wed ¥ frfafed oMt

R fo=m Hifsa

1. eFEe | 9% et & ofaid e B

2. @ HAfd w1 fmio goeE, deRe, fire
TeoR TS AHEl S Tl T STAN Hlh
o T R

3. 3 WY 1 YR GR & AR 1

ST § @ fohae wer wEl ©2

(a) oA TH (b) o

(c) |t I (d) > o T

frAfafaa wul | faar wifsa:

1. FHeEd-3a-3&™ AR 1 i segare
4 HIEMET ol

2. o @t T Hehel Headd hid Sl ggal
Tepe €, T4 siefaq 3 Samn ol

3. 3TrE SLETST 1 0 TemssEH faerst |
EzcieiDl

St A 9 fhad wer wedt #2
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3. The gopuram and parkota are found in
Dravidian style.

4. The sanctum sanctorum is found in both
Nagara and Dravidian styles and is rectangular
in both the styles.

How many of the above statements are correct?
(a) Only one

(b) Only two

(c) Only three

(d) All four

With reference to the Hoysala period temple,
consider the following statements

1. Hoysala temples come under the Besar style.

2. These temples have been constructed using
materials like soapstone, granite, faceted
stone and wood.

3. The base of these temples is star shaped.
How many of the above statements are correct?
(a) Only one (b) Only two
(c) All three (d) None
Consider the following statements:

1. Quwwat-ul-Islam Mosque was built by

[tutmish.

2. The tomb of Sultan Garhi is the first tomb
of the Sultanate period, which was built by
Balban.

3. Alai Darwaza was built by Alauddin Khilji.

How many of the above statements are correct?

(2) o Th (b) e < (2) Only one (b) Only two
(c) =t = (d) =g off T (¢) All three (d) None
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